22424 1: 7]E 0o} 24

120 220 CHEt 2HMYLICH 25 o =lte 288 LU

1. 1009cm — 356cm — 742cm + 94em = AlAFsHe}. (3)
2. 2849 x 92 atet (3)

3. o2 AlLtster. (6)

(a) —11239— (—4732)+ 9639
(b) —164x —12

(c) 367x —19
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4. theg A4rstat. (4)
(a) $153+9 (b) 1397g + 11

5. o= A2 GE2 B0l 27golt. ol F& 750709 AFES kgo= AFstet. (3)

6. 15,40, 75, 1200] ol 247} ohg-& atet (7)
(a) 2ti5f4 (b) & AZu]5

(2H 7~12) t}2 A2 AAXbstet.

7. 7+20+(9—5) (3)

8. 147—21(24+=3)+31 (3)

9. 40+-(1+4)+7[84+(3x8)—27] (5)

(7-3)(2-5)
10. 509-5) - (2—6) (3)
(7T+4x5)=3+6=2
" o2x4+(5-8)—22+3
12. (4°x5—8)+3+9x8 ()

4x32—-20+5
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